ERO081-000 v =x

TE WEBZ%S ER0081-000

3 Cables, 139 mm [5.47 in] Bolt Hole Centers, 140 mm [5.51 in]
Height (Installed), 1 x M12 Bolt Size, Center Mounted, Hardware,
Grounding & Mounting

£ TE ERESE>

AERM BB 0h > BIREBAMF > B ~ BEthAl LR > KA VO RIEMFR SRR B 4k Bl E 3k

EZRENBGE 3

RABHGHERIEE: 38-50mm[1.5-197in]
139 mm[547 in]

=2E (BZE) : 140mm[551in]
ERRT: 1xM12

FrA XA VO LR S5 R EBER R E 3 (96)

%
H.|>a
A
c
+H
—/

it

ST
ELEHELE

EEFE
BEARFLAIC

DVRRB 4

gresSvAll

Rt

REBHEEE

[

=E (BZE)
Ze R~
R RER

= mfsIE

FamEE

MBEFSCH > HiAiR TE EN~mRME ° >

KRERRoHS$E<2011/65/EU

. For support call+86 400 820 6015

139 mm[5.47 in]

38 =50 mm[1.5-1.97 in]
140 mm[5.51 in]

1 xM12

PA=MAXFF 55, EMN

AEEHIEEERA

FRE, SN, RGN ~ SRZRADIEM, SEAFIIL ~ i

05/04/2025 12:44PM | Page 1


https://www.te.com.cn/chn-zh/product-ER0081-000.html
https://www.te.com.cn/chn-zh/product-ER0081-000.html
https://www.te.com.cn/chn-zh/product-ER0081-000.html

ERO081-000

3 Cables, 139 mm [5.47 in

M12 Bolt Size, Center Mounted, Hardware, Grounding & Mounting

] Bolt Hole Centers, 140 mm [5.51 in] Height (Installed), 1 x

KREBELV5<2000/53/EC ATIESHMESEER

FERREFmBESYRIEHRIERE ﬁﬂ»ﬁ (ChinaRoHS 2> T EEBEBEENZEME
WS BIEERHELE2EZ2016FEFE 32

KEBREACH A I (EC) No. 1907/2006 KoM {E=xE mEIR R & AMBYSVHCIRIEE
B 2025518 (247)
SVHCZZ BB ERRENE: 2024%F68

(241)

AREREACH SVHC

XES= BXNE-SHOEMEBBr~ClI~F~ <
900 ppm ° 1R Z BFR/CFR/PVC

JBIET 241 FESXRAIREIZ

e REER

EEETFHHNENSBIATEURTEXHENERHENE ENIAEIA © IHEERAFERETE « RTERIARTSREERoHSHY
RS 0 YIRS « /SNE8 ~ 5K ~ PBB ~ PBDE « DEHP ~ BBP « DBPFIDIBP IR ARERET 0.1% » IR
AREREE 0.01%HAF51E22011/65/EU(RoHS2) IR EEITIE S MERIEA S © RH#E2011/65/EU 16 BKRBFHES T~ mBEEH
17 CEF5IR o tRHF T~ mBELEHITCE F71R c £ TE WIAREME ELV 15T RRES » FmiIEmetd - 15 ~ 73N
MRIRAREREL0.1% » MUEAKERED 0.01% (HEEIHH) > HFFEIES 2000/53/EC (ELV) M RPIERIEE
% o XFEEAREACHEM » TE BRlRENLILE~RESHYRFPESEXFIYR (SVHC) HNEERETHMEEREER
(ECHA) &=#i&MmE" YRR ERIERE" » JEEUT | https://echa.europa.eu/guidance-documents/guidance-on-

reach

ECEf

*

—r | pe——

10~

TE =&émS CAT-OXSU TE =&m4msS CAT-RPIT TE =amémS CAT-OHVT-C TE F=méwS CAT-IXSU
PGP MR R E Raychem 1B1& T\ &% BELL . PMES Heat Shrink Terminations: 1C/3C,
Indoor

TE F=mRms

>

_— !

CAT-ELB TE Fa4ms CAT-CST TE Faa4ms CAT-RSTI TE RS CAT-OHVT-G

Loadbreak Elbow: 200A, 15 and 25 kV R YUBR R RN D EiERZSS 1250 A SERKE . P F

. For support call+86 400 820 6015

05/04/2025 12:44PM | Page 2


https://www.te.com.cn/chn-zh/product-CAT-OHVT-G.html
https://www.te.com.cn/chn-zh/product-CAT-RSTI.html
https://www.te.com.cn/chn-zh/product-CAT-CST.html
https://www.te.com.cn/chn-zh/product-CAT-ELB.html
https://www.te.com.cn/chn-zh/product-CAT-IXSU.html
https://www.te.com.cn/chn-zh/product-CAT-OHVT-C.html
https://www.te.com.cn/chn-zh/product-CAT-RPIT.html
https://www.te.com.cn/chn-zh/product-CAT-OXSU.html

ERO081-000

_
= TE
3 Cables, 139 mm [5.47 in] Bolt Hole Centers, 140 mm [5.51 in] Height (Installed), 1 x - = =
M12 Bolt Size, Center Mounted, Hardware, Grounding & Mounting

TE = &afRS CAT-OHVT-HS

High Voltage Terminations: Heat
Shrink, Self-Support

EFREBXT

-

TE =S4 S ER0086-000 TE F=fa4m S CS5522-000 TE PS4 S ES6398-000 TE ™= &a2m S ET0304-000
CCT50-63-CM HVBT-14-A(B10) BOW-OCP2-30ML-NLL ELBC-5856-JO01

TE = &afmSET0331-000 TE P &afRSES6397-000 TE =548 5 ET0239-000

ELBC-CC-5856-J0O01 BOW-OCP2-10S-NLL MXSU-6151-T6-JOO01

X1

CCT38-50-CM

B HRZS
BIER/BRT

TREFOIL CABLE CLEATS
SRR ZS

TREFOIL CABLE CLEATS
=i

TREFOIL CABLE CLEATS

TREFOIL CABLE CLEATS
HE

TREFOIL CABLE CLEATS

EAEAF
ERHAE (RE)

S hig s

t. For support call+86 400 820 6015 05/04/2025 12:44PM | Page 3


https://www.te.com.cn/chn-zh/product-ET0239-000.html
https://www.te.com.cn/chn-zh/product-ES6397-000.html
https://www.te.com.cn/chn-zh/product-ET0331-000.html
https://www.te.com.cn/chn-zh/product-ET0304-000.html
https://www.te.com.cn/chn-zh/product-ES6398-000.html
https://www.te.com.cn/chn-zh/product-CS5522-000.html
https://www.te.com.cn/chn-zh/product-ER0086-000.html
https://www.te.com.cn/chn-zh/product-CAT-OHVT-HS.html
https://www.te.com.cn/commerce/DocumentDelivery/DDEController?Action=srchrtrv&DocNm=AU34997&DocType=Customer%20Drawing&DocLang=English&DocFormat=pdf&PartCntxt=ER0081-000
https://www.te.com.cn/commerce/DocumentDelivery/DDEController?Action=srchrtrv&DocNm=EPP-3748&DocType=Data%20Sheet&DocLang=English&DocFormat=pdf&PartCntxt=ER0081-000
https://www.te.com.cn/commerce/DocumentDelivery/DDEController?Action=srchrtrv&DocNm=EPP-3748&DocType=Data%20Sheet&DocLang=German&DocFormat=pdf&PartCntxt=ER0081-000
https://www.te.com.cn/commerce/DocumentDelivery/DDEController?Action=srchrtrv&DocNm=EPP-3748&DocType=Data%20Sheet&DocLang=Spanish&DocFormat=pdf&PartCntxt=ER0081-000
https://www.te.com.cn/commerce/DocumentDelivery/DDEController?Action=srchrtrv&DocNm=EPP-3748&DocType=Data%20Sheet&DocLang=French&DocFormat=pdf&PartCntxt=ER0081-000
https://www.te.com.cn/commerce/DocumentDelivery/DDEController?Action=srchrtrv&DocNm=EPP-3748&DocType=Data%20Sheet&DocLang=Norwegian&DocFormat=pdf&PartCntxt=ER0081-000
https://www.te.com.cn/commerce/DocumentDelivery/DDEController?Action=srchrtrv&DocNm=EPP-3836&DocType=Specification%20Or%20Standard&DocLang=English&DocFormat=pdf&PartCntxt=ER0081-000

ERO081-000

S
= IE
3 Cables, 139 mm [5.47 in] Bolt Hole Centers, 140 mm [5.51 in] Height (Installed), 1 x - =
M12 Bolt Size, Center Mounted, Hardware, Grounding & Mounting

t. For support call+86 400 820 6015 05/04/2025 12:44PM | Page 4



